e-lech

Linear motors:

With Linear motors it's much simpler as the motor force is already in linear units.

Acceleration 4m/s*2
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In this example we want to accelerate a 1Kg at 4mm/S*2
Fmotor=M*a=1*4=4N

For some applications we need the nominal torque of the motor to be higher than the
torque needed, and in other applications it's enough if the pick torque of the motor is
higher than the torque needed. Depending on the duty cycle.

nyIN1 N'¥NIDIX pp-'X | e-Tech Automation in Motion Ltd.
48092 |'VN WX POX PIND .NX 11'70yn | 11 Ha'amal st. Rosh Ha'ain 48092 ISRAEL
www.e-tech.co.il :ANX | 073-7374420:)1970 | Tel: +972-73-7374420 | Web: www.e-tech.co.il



